## BID TABULATION GARLAND INDEPENDENT SCHOOL DISTRICT

\*CONFIDENTIAL

Ln#	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
1	Y		APPLE CINNAMON TEXAS TOAST OR SIMILAR FLAVOR, IW, 96/CASE	1,500	CS	*Classic Delight, LLC.	\$67.08	\$100,620.00
2	Υ		BACON, APPLEWOOD, PORK, 15LB/CASE	500	cs	Masters Distribution	\$62.79	\$31,395.00
3	N		BAGEL, MINI STRAWBERRY CREAM CHEESE OR SIMILAR FLAVOR, AT LEAST 51% WHOLE GRAIN, 2 OZ GRAIN EQUIVALENT, 72/CS	800	CS	TASTY BRANDS LLC	\$56.27	\$45,016.00
	Υ					Masters Distribution	\$36.19	\$28,952.00
4	Υ		BEEF ENCHILADAS, 51% WHOLE GRAIN BREAD COMPONENT	3,000	CS	MCI FOODS INC	\$60.14	\$180,420.00
5	Υ		(CPT) BEEF FAJITAS, RAW, MARINATED STRIPPED SKIRTS, LOWER SODIUM PREFERRED, 10# CASE	3,000	CS	Master Distribution	\$84.00	\$252,000.00
6	N		BEEF, PHILLY SLICED, FULLY COOKED, MUST INCLUDE CN OR PFS	1,000	CS	Master Distribution	\$198.34	\$198,340.00
	Y					Tyson	\$196.59	\$196,590.00
7	Y		BISCUIT, 51% WHOLE WHITE WHEAT, DOUGH PUCK, PAR-BAKED, PRE- SLICED, NO TRANS FAT	500	CS	RICH PRODUCTS CORPORATION	\$37.82	\$18,910.00
	N	1NL				Bake Crafters Food Company	\$36.08	\$18,040.00
	N	9PS				*Churchfield Trading Company	\$30.52	\$15,100.00
	N	1NL				Master Distribution	\$31.26	\$15,630.00
8	Y		BISCUIT, ENRICHED, EASY SPLIT, HEAT & SERVE NO TRANS FAT, 2 OZ GRAIN EQUIVALENT, 100/CS #6182 OR SIMILAR	500	CS	Bake Crafters Fod Company	\$0.3028	\$151.40
	N	3TQ				Bridgford Marketing Company	\$26.15	\$13,075.00
	N	4NS				Master Distribution	\$32.94	\$16,470.00
9	NA		BEEF, FINE GROUND 85/15, FROZEN, 4/10# VACUUM SEALED LOGS/CS	1,000	CS	Master Distribution	\$150.00	\$150,000.00
						Tyson	\$147.36	\$147,360.00
10	Y		BLUEBERRIES, IQF, 20# BULK, USAGE DEPENDS ON USDA ALLOCATION	100	CS	Master Distribution	\$52.20	\$5,220.00
11	Y		BREAKFAST BAGEL, EGG, TURKEY SAUSAGE & CHEESE, WHOLE GRAIN, IW, PROVIDES AT LEAST 1 OZ M/MA & 1 OZ GRAIN, TONYS#67625 OR SIMILAR	800	CS	Master Distribution	\$39.47	\$31,576.00
	Y					*Schwan's Food Service, Inc.	\$64.97	\$51,976.00

Ln # Av	ward (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
12			BREAKFAST STICKS, PANCAKE & PRECOOKED TURKEY SAUSAGE, AT LEAST 51% WHOLE GRAIN, PORK FREE, 1 MEAT 1 GRAIN EQUIVALENT, 60/CASE, BULK	800	CS	GOODMAN FOOD PRODUCTS	\$44.96	\$35,968.00
						Master Distribution	\$34.30	\$27,440.00
	Υ					Tyson	\$32.55	\$26,040.00
13			BREAKFAST STICKS, PANCAKE & PRECOOKED TURKEY SAUSAGE, AT LEAST 51% WHOLE GRAIN, PORK FREE, 1 MEAT 1 GRAIN EQUIVALENT, 40/CASE, IW	1,000	CS	GOODMAN FOOD PRODUCTS	\$46.17	\$46,170.00
						Master Distribution	\$24.38	\$24,380.00
	Y					Tyson	\$22.63	\$22,630.00
14	Y		BREAKFAST WRAP, EGG, CHEESE & COOKED SAUSAGE CRUMBLES, PORK FREE, WHOLE GRAIN TORTILLA, PROVIDES AT LEAST 1M/1MA & 1 GRAIN, IW, 72/CS	300	CS	MCI FOODS INC	\$91.38	\$27,414.00
	Y					McCain Foods USA, Inc.	\$100.64	\$30,192.00
15	Y		BREADSTICK, CHEESY GARLIC, 1 GRAIN, WHOLE GRAIN, 320/CASE	1,000	CS	Bridgford Marketing Company  *Classic Delight, LLC	\$29.57	\$29,570.00
							330.33	
						Master Distribution	\$57.40	\$57,400.00
						Tyson	\$34.05	\$34,050.00
16	Y		BREAKFAST SANDWICH, MAPLE WAFFLE OR SIMILAR, AT LEAST 51 % WHOLE GRAIN, BREADED CHICKEN, AT LEAST 1 MEAT &1 GRAIN EQUIVALENT, IW,	1,000	CS	Bake Crafters Food Company	\$133.14	\$133,140.00
	N	1NL				*Classic Delight, LLC	593.19	\$93,190.00
17	Y		BROCCOLI CUT, GRADE A CUTS WITH 35% HEAD MATERIAL, 20# BULK	1,000	CS	Master Distribution	\$24.85	\$24,850.00
18	Y		BROOKIE, CHOCOLATE CHIP. 51% WHOLW GRAIN COOKIE BAKED INSIDE A BROWNIE. IW, THAW & SERVE. 100/CASE	400	CS	Buena Vista Foods	\$44.00	\$17,600.00
						Master Distribution	\$45.18	\$18,072.00
19	NA		BUN, SLIDER, ENRICHED, SLICED 2.5", PROVIDES 10Z GRAIN, FROZEN	1,000	CS	SUPER BAKERY INC	\$49,470.00	\$49,470,000.00
20	Y		BUN, SLIDER, WHOLE GRAIN, SLICED 2.5", PROVIDES 1 OZ GRAIN, FROZEN, LOW SODIUM	1,000	CS	Bake Crafters Food Company	\$57.81	\$57,810.00

100   100	Ln#	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
### ##################################	21	Y			2,000	CS		\$31.14	\$62,280.00
N   995	22	Υ			100	CS		\$129.60	\$12,960.00
N   3702   MAINE DESCRIPTION   627.55   52.755		N	9PS					\$46.64	\$4,664.00
22   Y		N	9PS				Kellog Sales Company	\$28.50	\$2,850.00
24 Y CARROT DICER, NO SALT ADDED, FROZEN 700 CS MASSEC POSITIONION 521.49 \$14,986.  25 Y CEPT CHICKEN, FUELY COORDED, PRILLY SILCED, MUST PROVIDE CN LANGE OF A MASSEC POSITIONION 538.59 \$12,5775.  N 3TQ CHICKEN, FUELY COORDED, PRILLY SILCED, MUST PROVIDE CN LANGE OF A MASSEC POSITIONION 538.59 \$11,434.  N CHICKEN, FUELY COORDED, PRILLY SILCED, MUST PROVIDE CN LANGE OF A MASSEC POSITIONION 538.59 \$11,434.  N STQ CHILL, THREE BEAM, VEGSTARIAM 200 CS MAD GOD SILC 355.59 \$11,132.50  N MASSEC POSITIONION 553.59 \$11,132.50  NAMER OF DISTRIBUTION 553.59 \$11,132.50  THE PROVIDENCE OF A MASSEC POSITIONION 538.59 \$11,132.50  THE PROVIDENCE OF A MASSEC POSI		N	3TQ				Master Distribution	\$27.55	\$2,755.00
20	23	Υ		BUTTER, SALTED, GRADE A, 36/1#/CS OR SIMILAR	500	CS	Master Distribution	\$120.00	\$6,000.00
N   3TQ   Typen   S51.83   S111,426.	24	Y		CARROT DICED, NO SALT ADDED, FROZEN	700	CS	Master Distribution	\$21.40	\$14,980.00
CHICKEN, FULLY COOKED, PHILLY SLICED, MUST PROVIDE CN LABEL OR   GOD CS   NO ONE BID   \$0.00   \$50.	25	Y			2,150	CS	Master Distribution	\$58.50	\$125,775.00
PFS		N	3TQ				Tyson	\$51.83	\$111,434.50
27	26				600	CS	NO ONE BID	\$0.00	\$0.00
Y	27	N	3TQ		200	CS	MCI FOODS INC	\$55.56	\$11,112.00
NA		N					Master Distribution	\$63.20	\$12,640.00
Company   Buena Vista Foods   \$56.00   \$112,000.		Y						\$60.19	\$12,038.00
29 Y CINNAMON BUN, INDIVIDUALLY WRAPPED, 51% WHOLE GRAIN, 1,500 CS SUPER BAKERY INC \$59,775.00 \$89,662,500.  N 9PS Master Distribution \$18.84 \$28,260.1  CORN DOG, CHICKEN, WHOLE GRAIN, BULK 1,500 CS GOODMAN FOOD PRODUCTS \$59,04 \$88,560.1  Master Distribution \$37.00 \$55,500.1  CORN DOG MINI, CHICKEN, WHOLE GRAIN, BULK 4,000 CS Master Distribution \$84.54 \$338,160.1  CORN DOG MINI, CHICKEN, WHOLE GRAIN, BULK 4,000 CS Master Distribution \$84.54 \$338,160.1	28	NA			2,000	CS	Company		\$84,940.00
CORN DOG, CHICKEN, WHOLE GRAIN, BULK	29	Y			1,500	CS	SUPER BAKERY INC		\$89,662,500.00
PRODUCTS		N	9PS				Master Distribution	\$18.84	\$28,260.00
31 CORN DOG MINI, CHICKEN, WHOLE GRAIN, BULK 4,000 CS Master Distribution \$84.54 \$338,160.0  Proview Foods LLC \$25.89 \$103,560.0  32 N CRISPITO, CHICKEN FILLED OR SIMILAR FLAVOR, WHOLE GRAIN 800 CS Master Distribution \$40.43 \$32,344.0	30			CORN DOG, CHICKEN, WHOLE GRAIN, BULK	1,500	CS		\$59.04	\$88,560.00
Proview Foods LLC \$25.89 \$103,560.0  32 N CRISPITO, CHICKEN FILLED OR SIMILAR FLAVOR, WHOLE GRAIN 800 CS Master Distribution \$40.43 \$32,344.0							Master Distribution	\$37.00	\$55,500.00
32 N CRISPITO, CHICKEN FILLED OR SIMILAR FLAVOR, WHOLE GRAIN 800 CS Master Distribution \$40.43 \$32,344.	31			CORN DOG MINI, CHICKEN, WHOLE GRAIN, BULK	4,000	CS	Master Distribution	\$84.54	\$338,160.00
							Proview Foods LLC	\$25.89	\$103,560.00
	32	N			800	CS	Master Distribution	\$40.43	\$32,344.00

Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
	Υ					Tyson	\$38.68	\$30,944.00
33	N	4NS	CROISSANT, WHOLE GRAIN, 1 GRAIN	500	CS	Bake Crafters Food	\$53.22	\$26,610.00
						Company		
	Υ					Master Distribution	\$57.72	\$28,860.00
34	Υ		COOKIE DOUGH, PUCKS, BUTTER SUGAR, 51% WHOLE GRAIN, REDUCED FAT, NUT FREE PREFERRED	750	CS	Aspire Bakeries, LLC	\$47.05	\$35,287.50
	N					Buena Vista Foods	\$51.00	\$38,250.00
	N	9PS				Master Distribution	\$44.32	\$33,240.00
35	Υ		COOKIE DOUGH, PUCKS, CHOCOLATE CHIP, REDUCED FAT, 51% WHOLE GRAIN, NUT FREE PREFERRED	2,000	CS	Aspire Bakeries, LLC.	\$47.05	\$94,100.00
	N					Buena Vista Foods	\$55.00	\$110,000.00
	N	9PS				Master Distribution	\$44.32	\$88,640.00
36	Y		COOKIE CONFETTI CAKE, WHITE, 120/CASE	100	00 CS	RICH PRODUCTS CORPORATION	\$56.77	\$5,677.00
	N	9PS				*Classic Delight, LLC.	\$45.11	\$4,511.00
	N	9PS				Master Distribution	\$46.86	\$4,686.00
							ψ .σ.σσ	ψ ,,eee.ee
37	Y		COOKIE, TRIPLE CHOCOLATE FILLED, IW, 120/CASE	1,000	CS	RICH PRODUCTS CORPORATION	\$56.77	\$56,770.00
38	NA		CORN DOG MINIS, WG, 40 SERVINGS/CASE	4,000	CS	JTM PROVISIONS CO	\$135.37	\$541,480.00
						Master Distribution	\$84.54	\$338,160.00
						Tyson	\$83.29	\$333,160.00
39	Υ		CORN, CUT, BULK, GRADE A FANCY, 20#, USAGE DEPENDS ON USDA ALLOCATION	250	CS	Master Distribution	\$23.99	\$59,975.00
40	Υ		DOUGH, 12X16 IN PROOF & BAKE SHEETED, WHOLE GRAIN RICH, 20/CS, RICH'S #11108 OR SIMILAR	500	CS	RICH PRODUCTS CORPORATION	\$52.72	\$26,360.00
41	N		DOUGH ROLL, CINNAMON, 51% WHOLE WHITE WHEAT FLOUR, PRE-	700	CS	RICH PRODUCTS	\$42.97	\$30,079.00
			CUT, 2 OZ, INDIVIDUALLY QUICK FROZEN			CORPORATION		
	N	3TQ				Bridgford Marketing	\$31.47	\$22,029.00
						Company		

Ln#	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
	Υ					Master Distribution	\$32.62	\$22,834.00
42	Y		DOUGH COOKIE BUTTER SUGAR (CATERING USE ONLY) 2 OZ/160 CT	50	) CS	Master Distribution	\$54.61	\$2,730.50
43	Y		DOUGH COOKIE, CHOCOLATE CHIP, (CATERING USE ONLY) 2 OZ/160CT	50	) CS	Master Distribution	\$54.61	\$2,730.50
44	Y		DOUGH COOKIE MACADAMIA NUT (CATERING ONLY) 2 OZ/160 CT	50	CS	Master Distribution	\$60.33	\$3,016.50
45	Y		DUMPLINGS, CHICKEN, FULLY COOKED, TEXTURED SOY PROTEIN AND CABBAGE IN WHOLE WHEAT WRAPPER, PROVIDES 2.00 OZ EQUIVALENT	800	) CS	*Schwan's Food Service, Inc.	\$56.93	\$45,544.00
			M/M ALTERNATE AND 10Z EQUIVALENT GRAINS, 420 PIECES PER CASE					
46	Υ		GLUTEN-FREE BREAD, UDI, MULTIGRAIN, 6/24OZ. #9899780902 OR SIMILAR	200	) CS	Master Distribution	\$50.46	\$10,092.00
47			DINNER ROLLS, FROZEN DOUGH, 51% WHOLE GRAIN WHITE WHEAT FLOUR, 240/CS	4,200	) CS	Bake Crafters Food Company	\$34.19	\$143,598.00
	Y					Bridgford Marketing Company	\$19.75	\$82,950.00
						RICH PRODUCTS CORPORATION	\$36.62	\$153,804.00
						Master Distribution	\$43.65	\$183,330.00
							ļ 15.65	<b>\$255,555</b> .00
48	Y		DONUT HOLE, YEAST RAISED, BULK PACKED, 51% WHOLE GRAIN,	500	) CS	RICH PRODUCTS	\$32.73	\$16,365.00
	·		384/CS, RICHS #02725 OR SIMILAR			CORPORATION	<b>V</b> 02.7.0	<b>V10,000</b>
				100			40.4.05	442.242.00
49	Υ		DONUT RING, BULK PACKED, 51% WHOLE GRAIN, 84/CS, RICHS # 14839, OR SIMILAR	400	CS	RICH PRODUCTS CORPORATION	\$34.85	\$13,940.00
						Bake Crafters Food Company	\$52.15	\$20,860.00
50	Y		DUTCH WAFFLE, BULK PACKED, 51% WHOLE GRAIN, 48/CASE	800	) CS	*J AND J SNACK FOODS SALES CORP	\$24.00	\$19,200.00
						ARLINGTON VALLEY	\$39.24	\$31,392.00
						Master Distribution	\$40.15	\$32,120.00
51			EGG SCRAMBLED 6/5 LBS	1,000	CS	Master Distribution	\$77.84	\$77,840.00
	Υ					*Michael Foods, Inc.	\$49.73	\$49,730.00
52	Y		EGGS, HARD COOKED, PEELED, BULK	800	) CS	Master Distribution	\$112.91	\$90,328.00
	N	3TQ				*Michael Foods, Inc.	\$35.72	\$28,576.00
			The District solicited 420 suppliers					

Ln#	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
53	Y		EGG PATTIE 300/CASE	250	CS	Master Distribution	\$76.88	\$19,220.00
	N	9PS				*Michael Foods, Inc.	\$56.35	\$14,087.50
54	Υ		EGG ROLL, DARK MEAT CHICKEN, WHOLE GRAIN RICH, MUST CONTRIBUTE 1M/1G	1,200	CS	Master Distribution	\$72.80	\$87,360.00
55	Y	-	EGG ROLL, VEGETABLE, ENRICHED GRAIN FLOUR, 130/CASE	1,400	CS	INTERNATIONAL	\$54.00	\$75,600.00
						FOODS SOLUTIONS INC		
56	Y		FISH, ALASKAN POLLOCK, 51% WHOLE GRAIN NACHO BREADING, SUITABLE FOR BAKING NOT FRYING, 20# CASE	1,500	CS	*Churchfield Trading Company	\$62.96	
			SOTTABLE FOR BARING NOT FRIING, 20# CASE			Company		
	N	9PS				Master Distribution	\$41.73	\$62,595.00
57	Υ		FLATBREAD, 6X6, FROZEN, PRE-COOKED, 51% WHOLE WHITE WHEAT, GRILL MARKS ON BOTTOM AND BUBBLED BROWNING SPOTS ON TOP,	500	CS	RICH PRODUCTS CORPORATION	\$44.05	\$22,025.00
			192/CASE, RICH'S #14010 OR EQUAL					
58	Υ		FRANK, ALL BEEF, MUST CONTRIBUTE 2M/MA	600	CS	Master Distribution	\$41.64	\$20,820.00
							****	4,5,555
	N	3TQ				Tyson	\$26.55	\$15,930.00
59	Y	-	FRENCH TOAST, CINNAMON GLAZED, WHOLE GRAIN, WHOLE SLICED,	1,200	CS	Master Distribution	\$78.70	\$94,440.00
	·		BULK, MUST MEET 1 OZ M/MA AND 1 OZ GRAIN PER NSLP. MUST PROVIDE CN LABEL, 130/CS	2,200			<i>ψ</i> , σ., σ	ψ5 1,7 1.0.00
	N	9PS				*Michael Foods, Inc.	\$75.86	\$91,032.00
							• 4====	
60	Υ		FRENCH TOAST, CINNAMON GLAZED, WHOLE GRAIN, WHOLE SLICED, IW, MUST MEET 1 OZ M/MA AND 1.50 OZ GRAIN PER NSLP. MUST PROVIDE CN LABEL, 144/CS	1,500	CS	Master Distribution	\$78.70	\$118,050.00
						*Michael Foods, Inc.	\$107.67	\$161,505.00
61	Y	-	FRENCH TOAST MINI, VARIETY FLAVORS, IW, 51% WHOLE GRAIN RICH	1,500	CS	Bake Crafters Food	\$21.77	\$32,655.00
						Company		
						Kellog Sales Company	\$27.50	\$41,250.00
						Master Distribution	\$34.75	\$52,125.00
62	Y		FRUDEL, FLAVOR VARIETY, WHOLE GRAIN, IW, OVENABLE PACKAGING,	800	CS	TASTY BRANDS LLC	\$56.27	\$45,016.00
			PROVIDES 2 OZ EQ GRAIN					
	N	9PS				*Classic Delight, LLC.	\$35.11	\$28,088.00
	, v	313				S.333.6 Deligiti, LLC.	733.11	, , , , , , , , , , , , , , , , , , ,
	N	3TQ				Master Distribution	\$36.20	\$28,960.00

Ln # A	ward (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
63	Y		GARLIC KNOT, AT LEAST 51 % WHOLE GRAIN, 2 OZ GRAIN, 162/CS	750	CS	TASTY BRANDS LLC	\$61.42	\$46,065.00
64	N	4BV #64- 66	JUICE, APPLE, 4 OZ FROZEN, CARTON, 100% JUICE	15,000	CS	*COUNTRY PURE FOODS INC	\$11.84	\$177,600.00
	Y					Master Distribution	\$12.49	\$187,350.00
65	Y		JUICE, VARIETY FLAVORS, 4 OZ FROZEN, CARTON, 100% JUICE	4,000	CS	Master Distribution	\$15.51	\$62,040.00
66	Y		JUICE, ORANGE, 4 OZ FROZEN, CARTON, 100% JUICE	12,000	CS	Master Distribution	\$15.09	\$181,080.00
67			JUICE, 100% FROZEN FRUIT, NO SUGAR ADDED, PROVIDES 0.5 CUP	800	CS	NO ONE BID	\$0.00	\$0.00
68	Y		FRUIT, VARIETY FLAVORS  LOAF BANANA OR OTHER FLAVORS, SLICED, IW. 51% WHOLE GRAIN.  70/CASE	1,000	CS	SUPER BAKERY INC	\$43.86	\$43,860
	N	9PS				*Churchfield Trading Company	\$25.75	\$25,750.00
	N	3TQ				Master Distribution	\$26.05	\$26,050.00
69	Υ		LUNCH KIT, TURKEY & CHEESE. EACH TRAY (4.210Z. SERVING) PROVIDES 2.0 OZ EQUIVALENT MEAT/MEAT ALTERNATE & 2.0 OZ. EQ. GRAIN FOR THE CHILD NUTRITON MEAL PATTERN REQUIREMENTS. 48/CS	800	CS	TASTY BRANDS LLC	\$80.20	\$64,160.00
	N	1NL				Master Distribution	\$28.50	\$22,800.00
70	Υ		LUNCH KIT, TURKEY PEPPERONI & CHEESE PIZZA. EACH TRAY (4.21 OZ. SERVING) PROVIDES 2.0 OZ EQUIVALENT MEAT/MEAT ALTERNATE & 2.0 OZ. EQ. GRAIN FOR THE CHILD NUTRITION MEAL PATTERN REQUIREMENTS. 48/CS	400	CS	TASTY BRANDS LLC	\$79.63	\$31,852.00
	N	4NS				Master Distribution	\$28.50	\$11,400.00
71	Y		MANGO CHUNKS, IQF. 20# CS	200	CS	Master Distribution	\$48.35	\$9,670.00
72	Y		MAYONNAISE, LIGHT, 4/1 GALLON/CASE	600	CS	Master Distribution	\$69.08	\$41,448.00
73	N		MUFFIN, BLUEBERRY OR SIMILAR FLAVOR, INDIVIDUALLY WRAPPED, 51% WHOLE GRAIN, 60/CASE	1,000	CS	Aspire Bakeries, LLC	\$41.50	\$41,500.00
	N					Bake Crafters Food Company	\$29.71	\$29,710.00
	N					Buena Vista Foods	\$60.00	\$60,000.00
	Υ					Master Distribution	\$26.53	\$26,530.00
74	Υ		MUFFIN, SWEET POTATO CHOCOLATE CHIP OR SIMILAR FLAVOR, INDIVIDUALLY WRAPPED, 51% WHOLE GRAIN, 3.2 OZ, 120/CASE	1,000	CS	Buena Vista Foods	\$60.00	\$60,000.00

Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
75			NUGGET, VEGAN, PLANT-BASED, NO ANIMAL PRODUCTS OR BY PRODUCTS, PROVIDES 2 OZ MEAT ALTERNATIVE, CN LABEL	100	CS	GOODMAN FOOD PRODUCTS	\$105.76	\$10,576.00
						INTERNATIONAL FOODS SOLUTIONS INC	\$219.00	\$21,900.00
						*Churchfield Trading Company	546.64	\$4,664.00
	N	зто				Kellog Sales Company	\$44.00	\$4,400.00
	Y					Master Distribution	\$45.75	\$4,575.00
76	Y		OATMEAL BARS, STRAWBERRY OR SIMILAR FLAVOR, WHOLE GRAIN, IW, 2.20Z/160/CASE	1,000	CS	NATIONAL FOOD GROUP INC	\$47.00	\$47,000.00
						*ES Foods	\$78.00	\$7,800.00
						Master Distribution	\$64.00	\$64,000.00
77	N	9PS	PANCAKES, BUTTERMILK, BULK PACK, 144/CASE	3,000	CS	NATIONAL FOOD GROUP INC	\$19.00	\$57,000.00
	Υ					Bake Crafters Food Company	\$25.01	\$75,030.00
	N	3TQ				*Churchfield Trading Company	\$20.98	\$62,940.00
	N	4NS				Kellogg Sales Company	\$24.00	\$72,000.00
	N	3TQ				Master Distribution	\$21.55	\$64,650.00
78			PANCAKE DIPPER, DARK MEAT, WHOLE GRAIN, BULK, MUST CONTRIBUTE 1M/1G	1,000	CS	Master Distribution	\$85.78	\$85,780.00
	Υ					Tyson	\$84.53	\$84,530.00
79			PANCAKE MINIS, MAPLE FLAVOR OR SIMILAR, 51% WHOLE GRAIN, SINGLE SERVE, OVENABLE POUCH, 72/CASE	1,500	CS	Bake Crafters Food Company	\$46.39	\$69,585.00
	Y					Kellog Sales Company	\$30.96	\$46,440.00
						Master Distribution	\$39.05	\$58,575.00
80			PEANUT BUTTER & JELLY SANDWICH, GRAPE, WG, IW, 72/CASE	500	) CS	ALBIES FOODS INC	\$52.92	\$26,460.00
	Υ					Master Distribution	\$45.56	\$22,780.00
81			PEAS, GREEN, NO SALT ADDED, 20 LB/CS	500	CS	NO ONE BID	\$0.00	\$0.00
82			PIZZA DOUGH, 16", WHOLE GRAIN RICH, FROZEN, PROVIDES 2 GRAIN PER SERVING	400	CS	RICH PRODUCTS CORPORATION	\$54.03	\$21,612.00

83	Y							
83	Y						1	
83						Master Distribution	\$50.05	\$20,020.00
			PUPUSA, FLAVOR VARIETY, MUST MEET AT LEAST 1 MEAT 1 GRAIN, WHOLE GRAIN	500	CS	*Churchfield Trading Company	\$61.34	\$30,670.00
	Y					Master Distribution	\$59.90	\$29,950.00
84	Y		SALAD SHELL, AT LEAST 51% WHOLE GRAIN, ULTRAGRAIN, 10", 2 GRAIN EQUIVALENT	1,500	CS	Master Distribution	\$52.28	\$78,420.00
85	Υ		SAUSAGE BISCUIT SANDWICH, INDIVIDUALLY WRAPPED, POULTRY SAUSAGE, 51% WHOLE GRAIN, 90/2.6 OZ/CS	2,500	CS	Heart of Texas Biscuits	\$38.70	\$96,750.00
						Master Distribution	\$75.90	\$189,750.00
						Tyson	\$74.15	\$185,375.00
86	Υ		SAUSAGE LINK, FULLY COOKED, ONE LINK PROVIDES, 1M/MA, PORK FREE, CONTAINS NO MAJOR ALLERGENS	500	cs	*Hormel Food Sales, LLC.	\$44.69	\$22,345.00
	N					Master Distribution	\$69.45	\$34,725.00
	N	9PS				Tyson	\$34.31	\$17,155.00
87			SAUSAGE ROLL, BREAKFAST, KNOCKWURST WRAPPED IN 51% WHOLE GRAIN DOUGH AND BAKED, LOW SODIUM, 2.5 OZ, DOUBLE B #4086 OR EQUAL	500	CS	*MICHAEL VASQUEZ	530.00	\$15,000.00
88			SAUSAGE ROLL, BREAKFAST, INDIVIDUALLY WRAPPED IN OVENABLE WRAP, 2 OZ, SMOKED CHICKEN AND BEEF KNOCKWURST WRAPPED IN 51% WHOLE GRAIN DOUGH AND BAKED, 136/CASE #4289B	2,250	CS	*MICHAEL VASQUEZ	\$32.00	\$72,000.00
89			STRAWBERRIES, NO SUGAR ADDED, SLICED, FROZEN, GRADE A, FANCY, USUAGE DEPENDS ON USDA ALLOCATION, 6/6.5#/CS	500	CS	NO ONE BID	\$0.00	\$0.00
90	Y		SOFT FILLED CINNAMON TOAST CRUNCH CEREAL BAR, OR SIMILAR, 51% WHOLE GRAIN. 72/2.36oz./CASE	1,500	CS	Master Distribution	\$36.20	\$54,300.00
91	N	9PS	TAMALE, CHICKEN TOMATILLO, IN HUSK, 51% WHOLE GRAIN	1,500	CS	*PADRINO FOODS LLC	\$62.00	\$93,000.00
	N	3TQ				MCI FOODS INC	\$72.53	\$108,795.00
	N	9PS				*Churchfield Trading Company	\$54.96	\$82,440.00
	N	3TQ				Master Distribution	\$115.75	\$173,625.00
	Y					INTERNATIONAL FOODS SOLUTIONS INC	\$171.69	\$257,535.00
92	Y		TACO SNACK, WHOLE GRAIN, BULK, MUST MEET 2M/MA & 2 GRAIN	1,500	CS	MCI FOODS INC	\$55.80	\$83,700.00
93			TORNADO, BREAKFAST FLAVOR VARIETY, STUFFED, MUST MEET 1 MEAT 1 GRAIN	1,500	CS	Masters Distribution	\$21.37	\$32,055.00
94	Y		TORNADO, LUNCH FLAVOR VARIETY, STUFFED, MUST MEET 1 MEAT 1 GRAIN	1,000	CS	Master Distribution	\$21.37	\$21,370.00
95	Y		TORTILLA, 6", ULTRAGRAIN, LOW SODIUM, AT LEAST 51% WHOLE GRAIN, 1 OZ GRAIN EQUIVALENT, 30/12CT/CS	800	CS	Master Distribution	\$37.95	\$30,360.00
	N	4NS				Tyson	\$23.77	\$19,016.00

Ln#	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
96	Y		TORTILLA, 9", ULTRAGRAIN, REDUCED SODIUM, AT LEAST 51% WHOLE GRAIN, 2 OZ GRAIN EQUIVALENT, 16/12 CT/CS	700	CS	Master Distribution	\$37.03	\$25,921.00
97	Y-ALT		WAFFLES, WHOLE GRAIN, WHOLESOME CHOICE, MAPLE OR SIMILAR, 144/1.40Z, BAKECRAFTERS #1556 OR SIMILAR	1,000	CS	ARLINGTON VALLEY FARMS	\$39.24	\$39,240.00
	Υ					Bake Crafters Food Company	\$30.19	\$30,190.00
	N	3TQ				*Churchfield Trading Company	\$20.98	520,980.00
	N	3TQ				Kellog Sales Company	\$21.00	\$21,000.00
	N	зто				Master Distribution	\$21.55	\$21,550.00
						TASTY BRANDS LLC	\$52.49	\$52,490.00
98	Y		WAFFLE BITES, CINNAMON OR SIMILAR, IW. 51% WHOLE GRAIN. 72/CASE	1,500	CS	ARLINGTON VALLEY FARMS	\$39.24	\$58,860.00
	N	зто				Kellog Sales Company	\$27.50	\$41,250.00
	N	зто				Master Distribution	\$34.14	\$51,210.00
99	Y		VANILLA DONUT GLAZE. TO PROVIDE GLOSSY SHINE AND GOOD CLARITY 40# PAIL.	. 200	PL	RICH PRODUCTS CORPORATION	\$50.58	\$10,116.00
100	Y		WHIPPED TOPPING, NON-DAIRY, 12/CS	200	CS	RICH PRODUCTS CORPORATION	\$43.25	\$8,650.00
101	Y		VEGETABLES, KYOTO BLEND, EDAMAME, BROCCOLI FLORETS, JULIENNE CARROTS, CUT CORN, DICED RED PEPPERS, I.Q.F., 6/2.5# BAGS/CS	1,200	CS	Master Distribution	\$28.20	\$33,840.00
102	Y		VEGETABLES, MIXED, GREEN BEANS, LIMA BEANS, CARROTS, CORN, AND PEAS, GRADE A, 12/2.5#/CASE	750	CS	Master Distribution	\$24.75	\$18,562.50